Ratio to CMS

1000/0 2do)/d(m_1 + m_2) [1/GeV]

-
o
@

|_\
o L, 5 B
AN = o N w

[HEN
o
R

-
<
D

107>

0.5

7000 GeV pp W+Jet
:l T I T I T I I | I I I I T | T I T I T — 9
. . 15
= Filtered jet mass (anti-k_(0.7), 220<p_<300, |y|<2.5) =3
~ =
Lo
= =Y
— e _ =R
~ P 2 im‘"’-*"iwﬁ - ml=)
= T o
= EE
— &' O
= m CMS —=
= £+ Pythia 6.428 350 “ =
= k- Pythia 6.428 351 @ =5
— - ¥- Pythia 6.428 352 .= %
- A Pythia 6.428 353 e
= -6-- Pythia 6.428 354 - 38
__ -+ Pythia 6.428 355 2
= o Pythia 6.428 356 e
;_ Pythia 6.428 357 s
= Pythia 6.428 358 3¢
~ = Pythia 6.428 359 198
= =
= =le
- —H O
_le
= ==
! ' =
— —2
1
L —0.5
| 1 1 1 1 | " 1 1 1 1 " | " 1 " 1 " 1
0 50 100

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


